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Instruction : Figures at the right indiqate marks.

1. The production of a product of Hiteshi Ltd. passes through three different Processes ‘P,

‘Q" and "R’ and thereafter it is transferred to finished stock. The information for

wod Apmgierelnn

processes 1s as under : 14
Process | Process | Process
Particulars
GP! I.Q, lR!
. Units introduced (per unit ¥ 30) 75.000 - -
+ 2. Normal wastage (percentage of inputs) 8% 6% 4%
t
3. Sales value of wastage (per 10 units) T 30 T 60 T 90
4. Abnormal Wastage ; 7 - -
5. Abnormal Gain (number ot}pits) - 2352 -
6. Actual Production (in units ? 7 60,192
b
7. Normal cost of normal outpljt (per unit) T 50 T 70 T 80
Additional Information :
(1) Factory Overheads to be distributed as 100 percentage of direct wages in all three
processes. #
(2) The abnormal wastage was 80% of the normal wastage in Process ‘P".
From the above information. *repare Process Accounts, Abnormal Wastage Accounts
. ¥ !
and Abnormal Gain Accounts.
OR
Nl16-111 9 P.T.O.
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(a) The following details are available from the books of Kaveesh Manufacturing

Co. Ltd., regarding the two processes of their factory. 7
Particulars Process 1 Process 2

Raw materials introduced 5.000 units at T 30 per unit -

Direct Wages T 70.000 ¥ 96,000

Production Overheads 80% of Direct Wages 75% of Direct Wages

Wastages 500 units 250 units

Sales value of wastage (perunit) | ¥ 12 T31.20

By-products 600 units 750 units

Sales of by-products Cost plus 20% Sold at price so as to
realize 25% profit on
sale

Prepare Process Accounts and By-Products Account.

(b) Discuss in brief the various methods of apportionment of Joint Cost in Joint
Products. 4

(¢) How to recording Normal and Abnormal Wastage in Process Cost Accounts ? 3

A product passes through two different processes. before it is transferred to finished

wod Apmgierelnn

stock. The following information is obtained for the month of April 2014 : 14

Particulars | Process 1 | Process 2

Opening Stock (3) 64.000 | 80,000

Direct Materials () 1,28.000 3.56,000

Direct Wages () 80,000 1,20,800

Factory Overheads (as percentage of prime cost of 20% 10%

the process) '

Inter process profit of opening stock (Y) - 16.000

Closing Stock (%) 32,000 96,000

The output of Process 1 is transferred to Process 2 at 15% profit on the cost price.
Output of Process 2 transferred to finished goods stock at 10% profit on the transfer
price. Stock in process are valued at prime cost.
The opening stock of tinished goods was ¥ 2.50.400 and closing stock of finished goods
was T 1.21.840. Profit in opening stock of finished goods was ¥ 50.400. Sales during the
period were T 13.00,000.
Prepare and Compute :
(1) Process Accounts and Finished Stock Accounts.
(2) A statement showing Actual realized profit.

OR

N16-111 10
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- 2. Jay Co. Ltd provides you the following information in respect of Process-Il for the
month of October. 2014 : 14
T
(1) Opening stock in Process-II : 2000 units 13.800
Degree of Completion :
Material 70%
Labour 60%
Overheads 60%
(2) Transferred from Process-1 : 12750 units 27,000
(3) Expenses in Process 11 :
Direct Material 11,950
Direct Labour 34,650
Overheads 46,200
(4) Units Scrapped : (units) ?
Degree of Completion :
Material 100%
Labour 70%
Overhead 70%
(5) Transfer to Process-III : 11,500 units
(6) Normal loss in Process-11I : 4% of production
(7)  Units scrapped realized ¥ 5 per umit
(8) Closing stock in Process-11 : 2250 units
Degree of Completion : (iLl_jn;'atSnldy'.00[11
Material 60%
Labour 40%
Overhead 40%
From the above information, using FIFO method :
Prepare :
(i) Statement of Equivalent Production
(i) Statement of Cost
(111) Process-1l Account
N16-111 11 P.T.O.
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3. (a) Nisharg Mills Ltd. provides the following information relating to its production: 7
Year | Total Sales (T) | Total Cost ()

2012 15.00,000 17.25.000
2013 30,00.000 27.75.000
From the above information. calculate :
(i)  Profit-Volume Ratio
(i) Fixed Expenses
(111) Break-Even Point (in ¥)
(iv) Profit when sales are ¥ 42.00.000
(v) Sales to earn profit of ¥ 3.75,000

OR
(a) Dishita Ltd. gives the following information for the year ending on 31-3-2014 : 7
Sales umits 60.000 -
Break even sales T 19.80,000
Profit-volume ratio 30%
Selling price per unit T 60 (o)
From the above information, calculate : %
(i) Fixed Expenses §_
(ii) Variable Expenses w
(iii) Margin of Safety é.
(iv) The present net profit )
(v)  The required sales amount to earn a protit of ¥ 9.72.000. g
(b) The following particulars related to the manufacture of Products *K” and *P*. Both
the products use same raw materials. 4
N Particulars Produc.t ‘K* Product *P* v
per unit () per unit ()
Direct Materials (T 450 per kg) 900 1.800
Direct Labour (¥ 60 per hour) 600 1.200
Variable Overheads 300 480
Selling Price 3.000 5,640
Fixed Cost T 24,00,000.
The maximum production capacity of each product is being 30.000 units.
Assuming raw material as the key factor and availability of which is 96.000 kgs.
Find the product mix which will give maximum profit.
OR
(b) Discuss the advantages of Marginal Costing. 4
N16-111 12
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(c) Parth Ltd. gives the following information for the year ending on 31-3-2014 : 3
Selling price per unit 790 '
Profit volume ratio 30%
Margin of Safety 45%
Sales Units 45,000
From the above information, calculate the present net profit.
OR
(¢) Explain the following terms : (any three) 3
(1)  Incremental Cost
(i)) _ Avoidable Cost
(iii) Sunk Cost
(iv) Margin of Safety
4, Nupur Ltd. and Dhaval Ltd. were amalgamated on 1-4-2013. A new company Naval
Ltd. was formed to take over the business of the existing companies. 14
The Balance Sheet of Nupur Ltd. and Dhaval Ltd. as on 31-3-2013 are as under :
s | Dure | Do | asens | e [ D
Equity Share Capital : | 34,00.000 | 29.00.000 | Fixed Assets | 34,40.000 | 21,40,000
Fully paid shares of Current Assets | 41.60,000 | 31,60,000
T 10 each
12% Preference Share
Capital : 12,80,000 | 7.00.000
Fully paid shares of
% 100 each
Reserve & Surplus :
General Reserve 14.60,000 | 9,60.000
Investment allowance
reserve 2,00,000 | 1.,20,000
Profit & Loss A/c. 3.00,000 [ 2.08.000
Secured Loans :
12% Debentures of
T 100 each 2,00,000 | 1.12,000
Current Liabilities :
Creditors 7,60,000 { 3,00.000
76,00,000 | 53,00,000 76,00,000 | 53,00,000
N16-111 13 P.T.O.
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Other Informations :

(1) Naval Ltd. will issue 2 equity shares for each 5 equity shares of Nupur Ltd. and 3
equity shares for each 10 equity shares of Dhaval Ltd. The shares are to be issued
at ¥ 38 each, having face value of ¥ 10 each.

(2) Preference shareholders of two companies are issued equivalent number of 14%
preference shares of Naval Ltd. at a price of ¥ 130 per share, Face value ¥ 100 per
share.

(3) Debenture holders of Nupur Ltd. and Dhaval Ltd. are discharged by Naval Ltd. by
issuing such number of its 10% debentures of ¥ 100 each so as to maintain the
same amount of interest.

(4) Investment allowance reserve is to be maintained for two more years.

From the above information, you are required to prepare the Balance Sheet of Naval Ltd.

as on 1-4-2013 after the amalgamation in following cases :

(i) When amalgamation is in the nature of merger. %
(ii) When amalgamation is in the nature of purchase.
OR
4. (a) Give difterence between Pooling of Interest method and purchase method in view a
of Accounting Standard-14. 7 =
{(b) Give five conditions to be satisfied in amalgamation, so that it is said to be merger 5
as per Accounting Standard-14. 4 N
(¢) Write a short note on purposes (objects) of amalgamation of company. 3 g_
<
5. In the following sub-questions, more than one answer is given. of which only one 8
answer is correct. Select the correct answer and if it is required. provide necessary =
working note : (any seven) 14
(1)  Units introduced in Process-1  : 6000 units
Normal Wastage : 8% of input
Actual Production : 5400 units .
From given information, find out units of abnormal wastage.
{a) 480 units (b 120 units
(c) 240 units (d) 220 units

(2) In Interprocess profit method. from the following information of Process-B. find
apparent profit in Process-B.
Inter process profit in opening stock T 4,400

Inter process profit in closing stock T 6474

Actual profit T 18,726

(a) T 16,652 (b) 25200

{c) 20,800 (d) T23,126
N16-111 14
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In the equivalent production method of Process Account, which statement is to be
prepare to find matenial cost per unit ?

(a) Process Account

(b) Statement of Evaluation

(c) Statement of Equivalent Production

(d) Statement of Cost

The ratio of variable cost to sales is 70%. The break even point occurs at 60% of
the total capacity of sales. Fixed expenses are ¥ 2.70,000. Find amount of total
sales ?

(a) ¥ 15,00,000 (b) ¥12,85,000
(¢) T16.20,000 (d) 15.20,000
Sales Units 30.000

Fixed expenses T 5,40.,000

Beak-even sales unit 18,000

If sales price per unit is T 70, Calculate variable expenses per unit.
(a) TS50 (b) %40
(c) T35 (d Tas

There are certain costs which are not necessary to be taken inte consideration
while selecting an alternative by management are called

(a) Relevant costs (b) Unavoidable costs

(¢) Irrelevant costs (d). Avoidable costs

In which account in the books of vendor company, the original amount of General
Reserve which shows in Vendor Co. Balance Sheet, at the time of amalgamation
should be transferred ?

(a) Profit & Loss A/c.

(b) Purchasing Co. A/c.

(c) Realisation Account

(d) Equity Shareholder’s Account

In the vendor company Balance Sheet shows fixed asset T 8,50,000. At the time of
absorption, for calculation of Net Assets, Book value of fixed assets is 20% less
than the market value. What is the right amount of market value of fixed assets ?

(a) ¥10,62,500 (b) ¥6,80,000
(¢) T7,80,000 (dy <10,22,500
15 P.T.O.
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As per agreement, Mukesh Ltd. will absorb Nitin Ltd. on 31-3-2014. As per
Balance Sheet, stock of Nitin Ltd. includes goods valued at ¥ 36.000 purchased
from Mukesh Itd. which has sold goods so as to realize 25% profit on sales.

From the above information, what is the Journal Entry in the books of Mukesh Ltd.
at the time of absorption ?

(a) Nitin Ltd, A/c. Dr. 27.000...........

To Stock A/e. 27,000
(b) Goodwill A/c. Dr. 9,000...........

To Stock A/c. 9,000
(c) Stock A/c. Dr. 9.000...........

To Goodwill A/c. 9.000

(d) Stock A/c. Dr. 27.000.,..........
To Nitin Ltd. A/c. 27,000
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